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1. Givethree examples of continuous varidti %Qg'\I n human beings (3mks)
Q

"

2. (i) Namethe main produ%@f the dark stage of photosynthesis (Amk)
(i) Statetheimpgrt%nce of chlorophyll in photosynthesis (Amk)
e s
N

3. () Q/e?l%ﬁe the term balanced diet (1mk)
O e
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< (b) State the importance of roughage in adiet (Amk)

4, (8 How isthe fovea centralis adapted for its function in human eye (Amk)

(b) A person was not ableto seefar objects clearly but could view near objects clearly. Name the
eye-defect the person had (1mk)

(c) How can the defect be corrected (Amk)

5. (a) What isfertilization ? (2mks)
(b) Explain how double fertilization takes place in plants (2mks)

6. In an experiment, the pituitary gland of arat was removed
(a) State the effect thiswill have on the quantity of urine produced by the rat. (Amk)

(b) Give areason for your answer in (a) above (1mk)
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(2mks)

(1mk)

(1mk)

(1mk)

(1mk)

(3mks)

(1mk)

(1mk)
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7. State two importance of sexual reprodl,égﬁon
O@Q’Q
il
-
X
8. The diagram below show &@t of afood relationship in an ecosystem
.\\.
N
Fox
Q@@ D(T)g Leopard
>
Q \
& Rabbit/
N4
2 T
&
2 A
&
&
<<°* (a) Name the food relationship shown in the diagram
(b) Name the trophic level occupied by organism A
(c) What is the main source of energy in the ecosystem shown in the diagram above?
0. State the function of the diaghragm in the light microscope
10. Explain the role of antidiuretic hormone when thereis less water in the human body
11. State the function of each of the following organelles
(a) Centrioles
(b) Golgi body
3
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The graph below shows action of heat on er)gg?me reaction
Q
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@ What@{s%e effect of temperature on the rate of enzyme reaction?
Q‘b’
s
e

(a) State the reasons for the following adaptations of the xylem vessels

(i) Narrow lumen:

State the economic importance of the following plant excretory products
(a) Caffeine
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17. Explain why ababy |oses more heat per uni{g eight than an adult when exposed to the same
. - R
environmental conditions 2 (2mks)
R
N
e2....

- &
18. During oxidation of certaig@ood substances, the respiratory quotient was found to be 0.718

(i) Name the type of foed substance being oxidized (Amk)
%
(i) State twgb @\/antages of using the food substances named (2mks)
Q
el
19. n&?diagram below shows various types of gene mutations
2
2

<<K

@\e Mutation 1: (ABCD EFG—’@BCFGD

mutaion2: C A B| c|D| E[F|[©) — CAlB|c|F|G|ED|6)

(c) Identify the type of gene mutation shown above (2mks)
Mutation 1
Mutation 2
(d) Distinguish between gene and chromosomal mutations (2mks)

20.  Thediagram below shows dentition of adog

(@) (i) Name the part labeled X (1mk)

(ii) Give areason for your answer in a (i) above (Amk)
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(b) State how part labeled Y is adapted to it;g&,lncti on (Imk)
Q
"
Q,b% .................................................................
21 The diagrams below represents a nga% cell
N
® »
N L.
o5 <<
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&1 N
Yy ]
QQ}Cell/body
>
@ |denti%{y?he nerve cell (1mk)
...... Qe ettt
<
(@% ) Give areason for your answer in (a) above (Imk)
2
QKe ...................................................................................................................
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22. (&) State the importance of the following features in gaseous exchange
(i) Cartilage in the trachea (Imk)
(ii) Moisture on the surface of aveoli. (Imk)
(b) Name two sites where gaseous exchange takes place in terrestrial plants (2mks)

23. During germination and early growth, the dry weight of endosperm decreases while that of the

embryo increases. Explain (2mks)

24.  Thetable below shows the percentage composition of blood plasma and urine for four substances

Component substance Blood plasma % Urine %
Urea 0.03 20
Water 90 90
Plasma proteins 8.0
Glucose 0.1

6
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(a) Account for the absence of plasma protggq%\l nurine

s
\{_
(b) Urea concentration being g{éter in the urine than in the blood plasma
\

(1mk)

(1mk)

el
%
25. State three advanta&es of asexual reproduction in organisms
RN Q

N

(3mks)

,b?.)

26. Egggfain how the human eye accommodates an image from afar distant object

<<&
&e

< @27. The diagram below represents a stage of growth in two different seeds

QO

Seedling A
(a)ldentify the type of germination exhibited by seedlings A and B

Seedling A

Seedling B

(f) State the role of oxygen in germination

28. In view of modern genetics explain why Lamarckian theory is unacceptable.

29. Define the following terms used in ecology

(i) Biosphere

(i) Population
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(iii) Synecology 2
R
P
(iv) Carrying capacity \Q,@
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